coverage : 2022-09-21T22:07:32

duration : 303
column : [813 814]
peltier current : [10.0, 12.5]%

diffuser : no oscillation
created : 2023-08-24T12:46:45
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. coverage : 2022-09-21T22:07:32
Tropomi SWIR ISRF [laser 2] duration : 303

column : [813 814]
peltier current : [10.0, 12.5]%
diffuser : no oscillation
created : 2023-08-24T12:46:45
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Tropomi SWIR ISRF [laser 2]

normalized response

coverage : 2022-09-21T22:07:32
duration : 303

column : [813 814]

peltier current : [10.0, 12.5]%
diffuser : no oscillation

created : 2023-08-24T12:46:45
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